

POLICY BRIEF

BUILDING A STATEWIDE SYSTEM TO SUPPORT EARLY CHILDHOOD PROGRAM INTEGRATION WITH COMPREHENSIVE SERVICES: A POLICY BRIEF FOR STATE LEADERS



INTRODUCTION

Placeholder text for the Introduction section.

WHY COMPREHENSIVE SERVICES CAN IMPROVE CHILD AND FAMILY WELLBEING

Placeholder text for the Why Comprehensive Services Can Improve Child and Family Wellbeing section.





☒ f i☒ i , ☒ , f . ☒ i ☒f ☒☒, ☒ i . i☒☒i☒, ☒ i

\_\_\_\_\_

\_\_\_\_\_

\_\_\_\_\_

\_\_\_\_\_

\_\_\_\_\_

\_\_\_\_\_

\_\_\_\_\_

\_\_\_\_\_

\_\_\_\_\_

\_\_\_\_\_

\_\_\_\_\_

\_\_\_\_\_





$\frac{1}{x} = x^{-1}$ ,  $\frac{d}{dx} x^{-1} = -1 \cdot x^{-2} = -\frac{1}{x^2}$   
 $\frac{d}{dx} \frac{1}{x} = -\frac{1}{x^2}$

$\frac{d}{dx} \frac{1}{x^2} = \frac{d}{dx} x^{-2} = -2x^{-3} = -\frac{2}{x^3}$

$\frac{d}{dx} \frac{1}{x^3} = \frac{d}{dx} x^{-3} = -3x^{-4} = -\frac{3}{x^4}$   
 $\frac{d}{dx} \frac{1}{x^4} = \frac{d}{dx} x^{-4} = -4x^{-5} = -\frac{4}{x^5}$

$\frac{d}{dx} \frac{1}{x^5} = \frac{d}{dx} x^{-5} = -5x^{-6} = -\frac{5}{x^6}$   
 $\frac{d}{dx} \frac{1}{x^6} = \frac{d}{dx} x^{-6} = -6x^{-7} = -\frac{6}{x^7}$   
 $\frac{d}{dx} \frac{1}{x^7} = \frac{d}{dx} x^{-7} = -7x^{-8} = -\frac{7}{x^8}$   
 $\frac{d}{dx} \frac{1}{x^8} = \frac{d}{dx} x^{-8} = -8x^{-9} = -\frac{8}{x^9}$   
 $\frac{d}{dx} \frac{1}{x^9} = \frac{d}{dx} x^{-9} = -9x^{-10} = -\frac{9}{x^{10}}$   
 $\frac{d}{dx} \frac{1}{x^{10}} = \frac{d}{dx} x^{-10} = -10x^{-11} = -\frac{10}{x^{11}}$

$\frac{d}{dx} \frac{1}{x^{11}} = \frac{d}{dx} x^{-11} = -11x^{-12} = -\frac{11}{x^{12}}$

$\frac{d}{dx} \frac{1}{x^{12}} = \frac{d}{dx} x^{-12} = -12x^{-13} = -\frac{12}{x^{13}}$   
 $\frac{d}{dx} \frac{1}{x^{13}} = \frac{d}{dx} x^{-13} = -13x^{-14} = -\frac{13}{x^{14}}$

$\frac{d}{dx} \frac{1}{x^{14}} = \frac{d}{dx} x^{-14} = -14x^{-15} = -\frac{14}{x^{15}}$   
 $\frac{d}{dx} \frac{1}{x^{15}} = \frac{d}{dx} x^{-15} = -15x^{-16} = -\frac{15}{x^{16}}$

$\frac{d}{dx} \frac{1}{x^{16}} = \frac{d}{dx} x^{-16} = -16x^{-17} = -\frac{16}{x^{17}}$   
 $\frac{d}{dx} \frac{1}{x^{17}} = \frac{d}{dx} x^{-17} = -17x^{-18} = -\frac{17}{x^{18}}$

$\frac{d}{dx} \frac{1}{x^{18}} = \frac{d}{dx} x^{-18} = -18x^{-19} = -\frac{18}{x^{19}}$

$\frac{d}{dx} \frac{1}{x^{19}} = \frac{d}{dx} x^{-19} = -19x^{-20} = -\frac{19}{x^{20}}$   
 $\frac{d}{dx} \frac{1}{x^{20}} = \frac{d}{dx} x^{-20} = -20x^{-21} = -\frac{20}{x^{21}}$



2.  $\int \dots \int f \dots$

$\int \dots \int f \dots$

$\int \dots \int f \dots$

$\int \dots \int f \dots$

$\int \dots \int f \dots$

3.  $\int \dots \int f \dots$

$\int \dots \int f \dots$

$\int \dots \int f \dots$

(3)  $\int \dots \int f \dots$



4.

1.  $f(x) = x^2 - 2x + 1$  的图像是开口向上的抛物线，顶点在  $(1, 0)$ 。

2.  $f(x) = x^2 - 2x + 1$  的图像与  $x$  轴的交点为  $(1, 0)$ 。

3.  $f(x) = x^2 - 2x + 1$  的图像与  $y$  轴的交点为  $(0, 1)$ 。

4.  $f(x) = x^2 - 2x + 1$  的图像在  $x < 1$  时是下降的，在  $x > 1$  时是上升的。

5.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 1$  处取得最小值  $0$ 。

6.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $x$  轴相交。

7.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $y$  轴相交。

8.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $x$  轴相交。

9.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $y$  轴相交。

10.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $x$  轴相交。

5.  $f(x) = x^2 - 2x + 1$

1.  $f(x) = x^2 - 2x + 1$  的图像是开口向上的抛物线，顶点在  $(1, 0)$ 。

2.  $f(x) = x^2 - 2x + 1$  的图像与  $x$  轴的交点为  $(1, 0)$ 。

3.  $f(x) = x^2 - 2x + 1$  的图像与  $y$  轴的交点为  $(0, 1)$ 。

4.  $f(x) = x^2 - 2x + 1$  的图像在  $x < 1$  时是下降的，在  $x > 1$  时是上升的。

5.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 1$  处取得最小值  $0$ 。

6.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $x$  轴相交。

7.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $y$  轴相交。

8.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $x$  轴相交。

9.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $y$  轴相交。

10.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $x$  轴相交。

11.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $y$  轴相交。

12.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $x$  轴相交。

13.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $y$  轴相交。

14.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $x$  轴相交。

15.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $y$  轴相交。

16.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $x$  轴相交。

17.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $y$  轴相交。

18.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $x$  轴相交。

19.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $y$  轴相交。

20.  $f(x) = x^2 - 2x + 1$  的图像在  $x = 0$  和  $x = 2$  处与  $x$  轴相交。

$\int_{-\infty}^{\infty} f(x) \delta(x-a) dx = f(a)$ ; (3)  $\int_{-\infty}^{\infty} f(x) \delta(x) dx = f(0)$ ; (4)  $\int_{-\infty}^{\infty} f(x) \delta(x) dx = f(0)$ ; (5)  $\int_{-\infty}^{\infty} f(x) \delta(x) dx = f(0)$

### 6. $\int_{-\infty}^{\infty} f(x) \delta(x) dx = f(0)$

$\int_{-\infty}^{\infty} f(x) \delta(x) dx = f(0)$

## CONCLUSION

$\int_{-\infty}^{\infty} f(x) \delta(x) dx = f(0)$

## ACKNOWLEDGMENTS

The authors would like to thank the following individuals for their contributions to this project: [Redacted names and affiliations]

## CITATION

[Redacted citation text]

*The Center for Thriving Children advances science, implementation, and innovation to promote healthy child and youth development, learning, and thriving.*

